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2-1 (R AP0 o 484 47 PaO2=55mmHg(Pa02 5 mmHg); 2 & § 47 ok & ¥ & SpO2
=88% (SpO2 & %) o
2-2 PN PER ¢ 0 % F A 47 Pa0256-59 mmHg (PaOz 3 mmHg); & i § &k A
£ Sp02=899% (SpO2 5 %)
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2-4 1 5 N RE € R AL A BB AT L 2 523 %% (New York Heart Association Functional
Classification/NYHA and Modified Ross Heart Failure Classification for Children ) stage Il ~ IV
( #+ & stage )
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2-1 .M § 48 fr)k R T B E SpO2=85% (SpO2 3 %) o

2-2 & % § ¥4 ¥74F £ PCO2=55mmHg (PCO: 3 mmHg ) -

] (= ) g4p 5 B2 2 B (Bi-PAP: Bilevel Positive Airway Pressure)
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